H & 0l & AHS B Ml A

20238 =0ila eI DI XIS 0t

&A1t
IGSEEEL]
S e X = X2 EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
o 17,994,212 13,475,299 4,518,913
= 165,400
17,828,812
AT 12,967,400 8,922,517 4,044,883
SHAER = A2+ 8,971,400 5,088,400 3,883,000
et 2dEs 29 52,400 12,400 40,000
201 =3 52,400 12,400 40,000
01 At22t2l] 2,400 2,400 0
oty 2x2des 29 2,400
02 S5=2g4l 50,000 10,000 40,000
oty E=2dEs =29 50,000
A JIEAIE FX2 210,000 110,000 100,000
201 eer23y| 10,000 10,000 0
02 S3=gHl 10,000 10,000 0
O/HAEX JIEAIE T2 10,000
401 AIEHIZ SR THYI 200,000 100,000 100,000
01 AlZ8| 200,000 100,000 100,000
OLHA TR JIBHAIE = 200,000
BN S Al LAY 1,000,000 1,000,000
401 Al HIZL 201 1,000,000 1,000,000
01 Al&H| 1,000,000 1,000,000
OEtALE ZAlE Z4A 1,000,000
= MAHAEX] 2B XF[A 525,000 1,452,000 927,000
401 A& HIX R0 525,000 1,452,000 927,000
01 AlZH| 525,000 1,452,000 927,000
O&d = HNAHHEA 2SHMFAE XA 525,000
T3 M28HH T 2B M FAI 517,000 714,000 197,000
401 AIEHIZL SR THY] 517,000 714,000 197,000
01 AlZ8| 517,000 714,000 A197,000
OXF Mot 2 A& EXIAHY 517,000
= BT OB = 6,667,000 2,800,000 3,867,000
404 SAEBEH =N ES 6,667,000 2,800,000 3,867,000
01 BAt- SHAZ2HES 6,667,000 2,800,000 3,867,000
OBtAa M =t EX 6,667,000
SHIHAAIS XA 3,496,000 3,834,117 A33B,117
LS HEHIXE (H=14E 2,800,000 600,000 2,200,000
401 AIEHIX R0 2,800,000 600,000 2,200,000
01 A28l 2,800,000 600,000 2,200,000
o=t MEBIXZE 2,800,000
AHEEA SEESHE A 200,000 3,234,117 A3,034,117
401 AIEHIZ SR OHYI 200,000 3,234,117 A3,034,117
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EAM: Il

X2

33 Ngs2I/e8X3
el SAIIEEE K (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 45,000
Al 105,000
307 lztol & 150,000 0 150,000
= 45,000
Al 105,000
02 2IZHBYAIHE X 150,000 0 150,000
OALNIE SIFMNAESE SAAH 2EAEY 150,000
= 45,000
Al 105,000
sS4l Sdegsd 200,000 400,000 200,000
EBAATHSSEH| St At SR (A 200,000 200,000 0
X&)
308 XtXIEMSO0IE 200,000 200,000
11 BII2S0ICHE 2 A E RIS AL 200,000 200,000
OBAATISERY SSEHK L8tel B2iX|
& 200,000
HH2LZHI(OIL XD 48,312 47,682 630
JI2ZHI(OIg X&) 48,312 47,682 630
JI2ZHI(OIG X&) 48,312 47,682 630
201 2= 30,024 28,552 1,472
01 At22t2lt] 27,024 25,552 1,472
oget=ZH| 13,600
C=E il 11,424
O FAl NFLHAXN A3 =4 2,000
02 S3=gHl 3,000 3,000 0
(OF=g=pagestal 3,000
202 04| 14,688 16,130 A1,442
01 =LHOLI 14,688 16,130 A1,442
OJ|=gR=A0H| 14,688
203 HR=H] 3,600 3,000 600
M EAEgER=A 3,600 3,000 600
ORMEZI Y=t 300,000& * 122 3,600
HeEs(OIgX& D) 3,100,000 1,500,000 1,600,000
WEHAHRZ (OIS X2 1) 3,100,000 1,500,000 1,600,000
ENHEIIZ K& 500,000 500,000 0
RISHES 500,000 500,000 0
UIPIETSE— 500,000 500,000 0
oFEII= XN 500,000
S FYII= A 1,400,000 1,000,000 400,000
®RIIsdES 1,400,000 1,000,000 400,000
01 IIsd8ES 1,400,000 1,000,000 400,000
osMIHFEYII= NE 1,400,000
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SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
CHABH=2=X| O|EZ2AF K& 1,200,000 1,200,000
701 JIEISIHSESNE=2 1,200,000 1,200,000
03 ZI|HEYHIHA=E2NES 1,200,000 1,200,000
OUHAEHI£=Xl Ol ZAF XIS 1,200,000




